
622795 - IWP 30www.elektro-motory.cz 
 
 
www.elektro-motory.cz 
 
 
www.elektro-motory.cz 
 
 
www.elektro-motory.cz 
 
 
www.elektro-motory.cz 
 
 



poloha Díl č.: Popis Množství Cena bez
DPH

Cena vč.
DPH

Měna storage
location

Záruka

1 614917 O kroužek; 50x40; PN 02 9280.2 1 20,00 CZK Ano

2 615456 Kolík; 4m6x35; ISO 2338-A 1 20,00 CZK Ano

5 594635 Podložka vyr. 1 20,00 CZK Ano

6 593275 Těsnění 1 16,40 CZK Ano

7 614860 Šroub M5 x 25 4 20,00 CZK Ano

8 615017 Podložka; 5.1; ČSN 02 1740.05 4 20,00 CZK Ano

9 594609 Skříň mechanismu 1 2437,30 CZK Ano

10 594424 Vřeteno; ČSN 42 6510.11 1 2095,40 CZK Ano

11 594379 Čočka 1 31,17 CZK Ano

12 594378 Vyrov.podložka 1 16,40 CZK Ano

13 614488 Kulička; D 7 G40; ISO 3290 3 20,00 CZK Ano

14 594391 Úderník; ČSN 42 5510.11 1 1340,70 CZK Ano

15 591598 Čep; ČSN 42 5510.11 2 211,23 CZK Ano

16 594392 Kolík; ČSN 42 6519.62 2 20,00 CZK Ano

18 594410 Vřeteno; ČSN 42 5510.11 1 2077,70 CZK Ano

19 591359 Pero 1 20,00 CZK Ano

20 594640 Vačka; ČSN 42 5510.11 1 1670,70 CZK Ano

21 615018 Podložka; 6.1; ČSN 02 1740.05 6 20,00 CZK Ano

22 617511 Šroub; M6x20; ČSN 02 1143.72 6 18,80 CZK Ano

23 595041 Pružina; ČSN 42 6480.1 1 366,10 CZK Ano

24 614487 Kulička 10 20,00 CZK Ano

25 594393 Talíř 1 702,10 CZK Ano

26 614945 Ložisko; 6202 ZZ AS2 S2; ISO 582 3-18 1 223,00 CZK Ano

27 622794 Převodová skříň 1 1052,80 CZK Ano

28 614406 Šroub; M8 1 72,51 CZK Ano

29 592466 Vřetenové kolo 1 405,90 CZK Ano

30 615590 Podložka; 10.5; ČSN 02 1745.02 1 20,00 CZK Ano

31 617512 Matice; M10; ISO 4035 1 20,00 CZK Ano

32 614912 Ložisko 2 70,20 CZK Ano

33 592467 Pastorek 1 303,50 CZK Ano

34 592424 Ozubené kolo 1 366,10 CZK Ano

36 614988 Kolík 1 20,00 CZK Ano

37 637330 Těsnění 1 29,50 CZK B3F1 Ano

38 592472 Ložiskové víko 1 305,00 CZK Ano

39 592426 Kroužek 1 32,70 CZK Ano

40 623710 Ložisko; 629 A 4T1X ZZ* MC5 E 1 145,00 CZK Ano

41 622895 Rotor 1 537,90 CZK Ano

42 623896 Ložisko 1 78,60 CZK A2C4 Ano

43 591263 Vyrov.podložka 1 16,40 CZK Ano

44 593471 Vzduchov.vložka 1 19,70 CZK Ano

45 619549 Stator vinutý 1 508,20 CZK Ano

46 614776 Šroub 4,0 x 60 mm 2 20,00 CZK Ano

47 591242 Vyrov.podložka 1 16,40 CZK Ano

50 622892 Motorová skříň 1 134,30 CZK Ano

51 446296 Šroub s válc.hl. M4 x 40 4 16,20 CZK Ano

52 592428 Pérová vložka 2 16,40 CZK Ano

53 625249 Držák kartáče 2 19,70 CZK A2AB5 Ano

54 627010 Kartáč, sada 2 ks 1 135,10 CZK Ano

55 620258 Kartáčový kryt 1 21,60 CZK Ano

56 614778 Šroub 4,0 x 16 mm 2 20,00 CZK Ano

57 620259 Kartáčový kryt 1 21,60 CZK Ano

58 614772 Šroub 4,0 x 25 mm 8 20,00 CZK Ano

59 625362 Držadlo 1 141,10 CZK Ano

60 617686 Spínač; Marquardt 1299.5432 1 515,90 CZK Ano

61 453370 Příchytka; SV 30 301 1 16,40 CZK Ano

62 618348 Šroub 3,5 x 16 mm 2 20,00 CZK Ano

63 775271 Kondenzátor; TSK 25; 250nF 1 75,30 CZK Ano

64 432436 Návlačka 1 19,70 CZK Ano

65 900100 Již není k dispozici NV 1 Ne

65 621307 Pohyblivý přívod; H07 RN-F EURO; L=4m 110/80 1 222,50 CZK Ano

66 900100 Již není k dispozici NV 1 Ne

67 775388 Vedení 1 28,10 CZK B2BA6 Ano

68 622988 Vedení 1 36,70 CZK Ano

70 453371 Sevření 1 16,40 CZK Ano

71 405914 Skříň mechanismu 1 1959,20 CZK Ano

72 767469 Adaptérový konektor 1 Ne

www.elektro-motory.cz 
 
 
www.elektro-motory.cz 
 
 
www.elektro-motory.cz 
 
 
www.elektro-motory.cz 
 
 
www.elektro-motory.cz 
 
 




